ARTURY—UR—IEE (BIER) 201457RE
2 RIMHERIR
fERL AR R B SAX B
HE GIDEN
E)| Rt E)| Rt E)| e E)]
957% 73 73 0 0 0 0 73 0 0
E3-F:4 2,616 2,616 70 70 23 23 2,663 47 47
N, REE8 287 287 18 18 1 1 304 17 17
FIOTAETAERRE
BB A &t 7 &t
SETITAETA 92 “ 10,064,695 A 92 “ 10,064,695
EEEER 2 # 1,197,440 A 2 # 1,197,440 =]
FBATOT1ETA 99 # 43755 99 # 43755
ki 56 # 321,000 ce 56 # 321000 cc
TANIBHRE 17 A 17 A
ARRMEE 0 A 0 A
EMEABILEARE BAfEER 5 " 5 #*
EMEIANLAE BEK 465 ] 465 %
EREAOF 105,928 #® 105,928 "
BEELEE 68 ® 68 #®
EREHTIVH 0 L3 0 #®
BIR. TOTAETAEDBHEER 73 ] 73 %
YTavieRE
R 1z 2z 3z
- i
R | 28 | 459% Z
HRE Y o =R o =R o =R P M.
RAM | ppen | BAB | ppen | RAR | gpsg | RAM | pop
1 2 14 702 595 116 248 61 347 55
2 2 16 794 588 104 334 60 254 44
3 2 9 832 37 37 197 1 174 26
4 2 11 85.4 311 19 193 0 118 19
5 3 15 739 452 5 197 2 112 3 143 0
6 2 8 82.1 346 23 155 10 191 13
HEE! 73 79 2,663 304 1,324 144 1,196 160 143 0
WA—FryTHEL100%H EHI&BIELC
L
W AMJIF 28 4
L #BIs &= (ALIR &) 30 EE
LA E (ALIRH V) 4 @HE
L g Ei& (FLIRH V) 1E8
LR ## (ALIRH V) 1m8
LME —F (ALIRT L L) 67 @A
LME —&F  (fRIILL) 68 mA
LME —F (ALIRT L L) 69 @A
L#E —& (ALIRT L L) 70 @8
LME —&  (fLRTILL) 71 @A
Lt S5 (AR + LV D) 14 @R
L &0 3k (FLIR 3 LVD) 1E8
LEH X  (HRdLD) 28 mA
L/NEFF EIE (RLIRdto4t) 54 @8
L/hEsF RIE (RLIRIE i) 55 @A
L/NEFF EIE (FLIRdto4t) 56 EE
L/MEF EIE (FLRioi) 57 @8
L/h&F EIE (FLiRdtoi) 58 @E
L/MEF EIE (FLRioi) 59 @B
L/h&F EIE (FLiRdtoi) 60 EH
L/MEF EIE (FLRioi) 61 @B
L/h&F EIE (FLiRdtoi) 62 EH
L/MEF EIE (#LRioi) 63 @B
LEAXR #— (FLIRY 5 —7) 6 EHE
L&k 138 (FLIRETE) 8 @A
LB &% (FLIRFTZE) 1ER
LR &R (FBBE) 2 @A
LEE —% (BRE) 1 @A
LEBH Mz (ERE) 1 @8




